MA2, cviceni 5

1) Najdéte vsechny lokdlni extrémy funkce f, je-li

a) f(z,y) =zy(6—z—y),

b) f(z,y) =" +y' — 2% = 2zy — ¢,

) flz,y) =21 -2 —y),

d) flz,y) =122+ 42,

e) flz.y) =zy+ 2+ 7,

) flz,y) =e"7Y(5 -2z +y),

g) flz,y,2) = 2% +y?>+ 22+ 22 + 4y — 62 + /2024

2) Najdéte vsechny lokalni extrémy funkce f vzhledem k mnoziné M, je-li

a) f(z,y,2)=a?—y*—2, M ={(,9,2) ER®: x+y+2—1=0 A 20—y =0},
b) flz,y)=e(y—1)%, M ={(z,y) eR*: (x—1)(y—2) =0, z €(L,3), y > 2},
o) fla,y) =2+ +2 -9, M = {(z,y) € R?: 9—192 — 2% =0},

d) flz,y) =2y, M ={(z,y) eR?: y=e"}.



